Potencias de 10 (D)

4,063 +0,001

3,943 +0,001

1,920,001

6,238 + 0,001

7,624+ 0,001

0,827 + 0,001

4,676 +0,001

0,679 + 0,001

7,233 +0,001

7,421 0,001

Calcule los siguientes cocientes.

2,516 0,001

5,652 +0,001

7,869 0,001

3,880,001

7,591 +0,001

0,959 =-0,001

3,495--0,001

8,620,001

2,261 +0,001

5,060,001
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Potencias de 10 (D) Respuestas

4,063 = 0,001
4.063
3,943 0,001
3.943
1,920,001
1.920
6,238 0,001
6.238
7,624+ 0,001
7.624
0,827+ 0,001
827
4,676 +0,001
4.676
0,679+ 0,001
679
7,233 0,001
7.233
7,421+ 0,001
7.421

Calcule los siguientes cocientes.

2,516+0,001
2.516
5,652 +0,001
5.652
7,869 = 0,001
7.869
3,88+ 0,001
3.880
7,591+ 0,001
7.591
0,959+ 0,001
959
3,495 0,001
3.495
8,620,001
8.620
2,261 0,001
2.261
5,06+ 0,001
5.060
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